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Lesson 4 Multl-Step Problem Solving
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Multl-Step Example -

i =

Each trme Mln uses an ATM that belongs to a i ) 5 _ O
bank other than the one he has a checkrng +—— + R ;

l L I i
account with, he rs charged a fee The number . —12-11-10° —9-8-7-6 —5 —4-3-221"0 1
ling shows his ATM fees for one month Writea o - 2
nume cal expressron that represents hIS ATM fees ) )
and explaln the meanmg 7NS.2, @4 S S 1~

v
S .

@ = 3)4 Mm uses an ATM 4 trmes‘ and is charged $3 for each use.
® (~12)1 Min is charged $12 for1 ATM use

-© (— 4)3 Min uses an'ATM 3 trmes and is charged $4 for each use.
@ (—4)12; Min uses the ATM 12 tlmes and i$ charged $4 for. each use.

A J

Usea prabrémf-soi\'iihg model to solve_:this problém;

ﬂ Understand o |

Read the problem. he |nformat|on you 'know
Underlme what the problem i |s askmg you to find.

)] Plan : o

What will you need to do to solve the problem’ Write your plan in steps.

Determrne the drrectron of the arrows.
Ky lll f.l'

b Determmethe mtegerforeach arrow. e i % W

I!ead to
Succeedl

I I E ;
@ gdlve LI ‘ U - . Theve me HAree gvoupsdl-.

o R 5 eaual arvews. These three
Use your plan to solve the problem Show your steps. - ea‘m . °ws T

: groups vejresent the Hhvee
Srnce the arrows are goingtothe - = the integers represented L Pees.
. —’
are _. There are three arrows that each represent ___
(=4)*3=

So, Min used the ATM 3 times and was charged $4 each time.

The.correct answer is__ - Filli in that answer chorce

Z{} Check

How do you know your solution is accurate?
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Lesson 4

(continued)

.Us“'e."afproblem-‘solvmg niodel to solve each problem.

1 The table below shows the destent of an.

' arrplane Use the data ir'the table to find the
rate of descent in feet per mrnute Assume
the plane tontmues to descend at a constant
rate Write a muftiplication expression
that represents how far the plane has
descended in 7 minutés and find the
product: ZNS.2, 7

EAaN

1,200 1

P e

—3600 3

® (—1,200)7; =8,400 feet

'® (~2,400)7; ~16,800 feet
© (—1,400)7; ~9,800 feet:
® (-1.3797; —9,600 feet

- 3 Jose drives a limousine and he wantsto
calculate his profit at the end of the day. He'
spent money on gasolrne but made money
on trips: He bought 14 gallons worth of
gasoline at $4 per gallon He drove

_ customers 75 mrles and charged’ them a
rate of $5 per mrle How much profit did heé:
make in dollars, at the end of the day7
7EE3, @ 4 -

42

-

SRR | ]
2 Olrvra is playing a trivia game where you
‘ garn pornts for each rrght answer and Iose
_ points for each wrong answer, Some o
,",questrons are worth 3 pornts and some
iquestrons are worth 5 pornts Olrvra gets
four 3-p pomt questrons rrght and three ' )
3- pornt questrons wrong She gets three
5-point questrons right and two 5-point
questlons wrong. How many pornts does
she have? 7. EE 3, @ 2

4]& l-l O.T. Problem Tom multiplies*
5 negatrve rntegers Is the product posrtrve
negative; or zero? Explarn and mclude

~an example. Then write a general rule
about the product of negative numbers
7.NS.2a, @ 8. 6
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